INVERSE TRIGONOMETRIC FUNCTIONS

CLASS Xl

i) sin7! G)

i) sin~ (22)

iii) sec? (%)

iv) tan™! <i>

V3

v) tan~1(—V3)

vi) cos™! (— %)

vii) sin"! (3)

viii) cos™ (Z)

ix) tan~1(—1) x) cot™1(V/3) Xi) cosec™? (%) xii) sec™*(v2)
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iii) sec™! (sec g)
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iv) tan™! (tan —)

6

V) tan™! (tan %n)

- _ 51
vi) cos 1(cosT)
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vii) sin 1(5171?)
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viii) cos 1(cos?)

ix) tan™?! (tan %n)

X) cot™! (cot g)

. -1 2T
Xi) cosec™* ( cosec ey

. _ 7
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i.  Evaluate: tan™1 (tan 3n ) Ans: =
4 4
ii. Evaluate: cos™?! (cos7—”). Ans: 5
6 6
csin{® _ sin-1(1 :
iii. Evaluate: sin {3 sin ( 2)} Ans: 1
. P -1 -1 1 . T
iv. Find: tan™"(1) + sin ( 2) Ans: 5
v. Find: cos™? (coslg—n) Ans: =
6 6
Vi. Find: tan™! {ZSiTl (2 cos_lﬁ)} ADns: =
2 _3
vii.  Find: tan~'(+/3) — cot™1(=V3) Ans:  —
viii.  Find: cos™? (cos 2—”) + sin™?! (sin 2—”) Ans: s
3 3
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ix. Find: cos {cos (— 7) + ?} AnNs: -1
x. Findsinftan'(—v3) + cos (29| Ans 1
xi.  Find tan™'/3 — sec™1(-2) Ans: _T”
i in] - tan—1 -1(_L1 . 1im
Xii.  Find :tan™"(1) + cos ( 2) Ans: >
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